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Pythagorean Theorem Assignment
A) Calculate the measure of x in each.
Where necessary, round you answer correct to p% decimal placeS
Complete on a separate piece of paper.
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B) A ladder is leaning against the side of a 10m house. If the base o Eﬁ;ﬂ
ladder is 3m away from the house, how tall is the ladder? (:’% 5.3
Draw a diagram and show all work.
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C) What is the length of the diagonal?
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D) What is the length of bd? 3 g
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E) Use the Pythagorean Theorem fo find out if these are right triangles.

Justify your answers.
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ind the missing side. Round to the nearest if necessary.

6. b=5¢c=9 7.a=2,b=10 8.a=8 b=6

654> 3*Hio=c? o6’ >

@+S- ¥) “ v l00=c> by $36=c?
=S -5 c4=c joo=c>
q2=5k 4= C Sim=Vc?

Right triangle or Not
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Word problems — Round to the nearest tenth if necessary.

12. A 15 ft ladder is leaning against the side of the house. The base of the ladder is
9 ft away from the house. How far up the house does the ladder touch?
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13. The perimeter of a square is 36 cm. What is the length of the diagonal?
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14. A 12 fttall tree casts an 5 ft shadow on the ground. How far is it from the end of

the shadow to the top of the tree? 5 5
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et of points. Round to the nearest tenth if

Find the distance of the line segment or }
necessary.
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